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Mon 7th   N-S
1st
Ivy & Dinnie
58%
2nd
Bengt M & Lars B
57%

E-W
1st
Ian W & Dave/Terry
66%
2nd
Gerard & Terry
64%

Wed 9th  
N-S
1st
Tor Bj... & Dino
66%
2nd
Bob P & Gerard
59%

E-W
1st
Per And... & Hans V
66%
2nd
Borge & Asbyorn
59%

Fri 11th   
N-S
1st
Paul Q & Hans V
63%
2nd
Per And... & Jeremy
61%

E-W
1st
Bjorn-A & Rolf
63%
2nd
Sean & Paul K
60%

Bidding Quiz

Standard American bidding is assumed unless otherwise stated.
Hand A
Hand B
With Hand A you open 1♠ and partner bids 2♦, what do you bid?
♠ A108643
♠ KJ
With Hand B partner opens 1♠ and you bid 2♦. Partner bids 3♦
♥ 9
♥ 107
(forcing), what do you bid?
♦ AK732
♦ Q10854
♣ 10
♣ AKQ4
Bidding Sequence Quiz
C
1♠
pass
2♦
pass


What is 3♥, natural and strong or a splinter agreeing ♦’s?
3♥






D
1♣
pass
1♥
pass


2♦ is 4th suit forcing (game forcing), is 3NT to play or is it 

1♠
pass
2♦
pass

showing a strong hand?

3NT



Bid that minor suit slam



Board 9 from Monday 7th Feb
Bidding a minor suit slam is often difficult, but this one should be reached.
Dealer:
♠ A108643



Table A
North
♥ 9

West

North(A)
East

South(B)
E-W vul 
♦ AK732

-

1♠

pass

2♦

♣ 10


pass

3♦
(1)
pass

5♦
(2)
all pass
♠ 5

N
♠ Q972


♥ Q8543
W
E
♥ AKJ62

Table B
♦ J96
S

♦ -

West
North(A)
East

South 
♣ 9653


♣ J872


-

1♠

pass

2♦

♠ KJ

 
pass


4♣
(1)
pass

4NT
(3)
♥ 107




pass

5♦
(4)
pass

6NT
(5)
♦ Q10854


all pass
♣ AKQ4



Table A:
(1)
What did you bid with this North hand A in this week’s quiz? This is reasonable as long as you play it as forcing (I do) but there is a better option.
(2)
What did you bid with this South hand B in this week’s quiz? This South had a long think and decided upon 5♦. I don’t like to jump to 5♦ as it may miss a slam and the best alternative is a 4♣ cue bid 
Table B:
(1)
This was this North’s bid in answer to question A, a splinter showing ♣ shortage, agreeing ♦’s, and looking for slam. However, I don’t like this bid.  
(3)
RKCB. South has some difficulty now because of the bidding space consumed (a common problem if investigating a minor suit slam). But bidding RKCB is generally a bad idea with a wide open suit (♥’s here) in which partner has not promised any values. A 5♣ cue bid is the alternative but it goes past RKCB and the auction has already gone wrong. However, at this juncture I think that South should cue bid 5♣ rather than bidding RKCB. This shows slam interest and hopefully partner will realize that 4NT RKCB was not bid because of two ♥ losers. If North did actually have ♥Kx he could then right-side the contract by bidding 6NT if he wished.
(4)
3 (or 0) keycards playing 1430

(5)
And of course I don’t like this (because of the ♥ suit). Now I realize that South will be expecting more in the way of high cards and hopefully some ♥ values for partner’s ♣ splinter, but if North has say ♥Kx then any slam contract is now wrong sided. South knows that North probably has the ♠A and ♦AK for his 3 keycard response and that the ♥A is thus sure to be missing and there is no guarantee that partner has the ♥K and even if he has he may not make it with the opening lead coming through it.

And what happened? 6NT went four down of course. Everybody else stopped in 4♠ or 5♦ except Ivy/Dinnie who had no problem charging into 6♦ and making an overtrick.
The bottom lines:

· As I said, I don’t like either of these auctions and I would bid 3♥ at (1), which is the cheaper of the two possible splinter bids. This then allows South to cue bid 4♣ and then North can eventually bid 6♦, via RKCB if he wishes, with the correct hand bidding Blackwood.
· I actually asked another of the club’s top players what he would bid at (1) and he too came up with 4♣. So maybe it’s not obvious to everyone that 3♥ is a splinter?

· It’s up to you if you consider the North hand good enough for a splinter (I do). It has great playing strength but is a bit lacking in the way of high card points. 

· Do not bid any kind of Blackwood with a wide open suit that partner has not shown values (or shortage) in – there may be two losers (or more!) off the top.
Keeping the opponents out of the bidding


Board 16 from Monday 7th Feb

Dealer:
♠ AK63




West
♥ 92

West

North
East

South
E-W vul 
♦ K5

1♦

pass

2♦

pass
(1)

♣ 107542


3♦
(2)
pass
(3)
pass

pass
(4)
♠ 2

N
♠ Q7


♥ KJ73
W
E
♥ Q4

♦ A87642
S

♦ QJ103
 
♣AK


♣ Q9863



♠ J109854


♥ A10865




♦ 9



♣ J



(1) Maybe South should say something here. 
(2) Meant not as a constructive invitation, but simply to try to stop the opponents bidding their ♠’s, of which they are known to hold at least nine.

(3) Had West passed, North would certainly bid, but was reluctant to come in at the three level.

(4) And South had the same problem, although double would have worked on the deal.

And what happened? The board was played eight times and seven N-S pairs found their ♠ fit. 4♠= four times was the top for N-S and 3♦+1 was the top for E-W.

The bottom lines:

· If you know that the opponents have a huge major suit fit, try to use up bidding space to stop them finding it.
Dave’s Column


Just the one this week
North
South

West 

North

East

South

♠ A943
♠ J108762

 1♦
pass

1♥

2♠
♥ AQ 
♥ 762

 3♥
4♠

pass

pass
♦ K74
♦ 8
 dbl

all pass
♣ 9865
♣ KQJ


You are South, declarer in 4♠. West starts with the ♠K, taken by dummy’s ♠A with East playing the ♠5. After a ♣ to the ♣K, taken by the ♣A, West cashed the ♠Q and switches to the ♥3. Plan the play.

Dave’s Column Answer


Board 16 from Wednesday 9th Feb
Dealer:
♠ A943



Book Bidding
North
♥ AQ

West

North
East

South
E-W vul 
♦ K74

1♦


pass

1♥

2♠

♣ 9865


3♥

4♠

pass

pass
dbl

all pass
♠ KQ
N
♠ 5


♥ 10843
W
E
♥ KJ95

♦ A652
S
♦ QJ1093

♣ A107


♣ 432


♠ J108762

 
♥ 762

 
♦ 8
 

♣ KQJ


The vulnerability induced South to make a weak jump overcall with a less than robust suit. With the opening bid on his right North felt justified in jumping to game despite the knowledge that at this vulnerability south might be weaker than usual.
West starts with the ♠K, taken by the ♠A with East playing the ♠5. After a ♣ to the ♣K, taken by West’s ♣A, West cashed the ♠Q and switched to the ♥3. Plan the play.

At the table, declarer finessed the ♥Q, losing to East’s ♥K and the ♦Q return defeated the contract.

It might be tempting to finesse the ♥Q, but it is unlikely to succeed. Needing two more tricks West is more likely to shift to a ♦ if he holds the ♥K. Therefore, rise with the ♥A and cash your ♣ winners. If the ♣10 drops. Dummy’s remaining ♣ will be high. You can play a low ♠ to dummy’s ♠9 and cash the ♣ winner to discard a ♦. You then concede a ♥ and ruff your other ♥ in dummy.
In actual fact West erred by cashing the ♠Q before switching to a ♥. If West shifts to a ♥ at trick three, declarer cannot benefit from the 3-3 ♣ break as there is no quick entry to dummy.
And what happened at the Pattaya bridge club? Various scores, four went down in 4♠, one made it and one made it doubled.
Bidding Quiz Answers
Hand A:
3♥. A splinter agreeing ♦’s. This is better than a 4♣ splinter as it is the cheapest and allows more space for investigating slam. Alternative bids chosen by various players were 3♦ and 4♦.
Hand B:
4♣. A cue bid showing the ♣A, denying the ♠A and ♥A, and looking for slam. 
Bidding Sequence Quiz
C
1♠
pass
2♦
pass


2♥ would be natural and forcing (it’s forcing as responder 

3♥




bid at the two level) and so 3♥ is best played as a splinter.

D
1♣
pass
1♥
pass

The sequence is game forcing and so 3NT is thus weaker 

1♠
pass
2♦
pass

than 2NT (fast arrival) and shows a definite desire to play 

3NT




there unless responder is particularly strong.
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